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Hhigl SR R B

2013% 78218 ~310 FIEE (87)

(1/5)

BAFRE |&THE 10°CLL EFERSUR| 285 EAFE |HiL 10°CLLEFEH SUR| 300
B SUR(C) A - EE(m/s) [ 7K = (mm) BB B =m(°C) LA - EE(m/s) [ 7K = (mm) HEg
T | & | &IE | FY | %% | &KX | BRA | BEE | &A@ | B [185E] 105 | () Y| &e | &E | FY (&% | &KX | AR | BE | AR | B [1EE] 105 ] ()

21 26.2| 320 220/ 10f NNw| 31| sw| 73] sw| oo 00| oo0f 70 21 271 317 23.1] 1.7 NNE[ 3.9 s| 59 s| 00| oof 00| 80
22 26.3| 326 195] 1.9] NNW 5/ NNW| 9.0[ NNw| 00| 00| 00| 123 22 27.3] 320 238] 25 N 4 N| 56 s| 00| oo o00] 119
23 26.3] 314 222] 27| NNw| 6.1 NNw| 13.7] NNW[ 00| 00| 00 94 23 272 319 238| 1.8 SSE[ 3.9 s| 56 s| 00| oof o00] 84
24 265 325 21.7] 3.1 NNw| 6.8 Nw| 133] Nw| o00] 00| o00f 93 24 276 341 227| 22| NNE[ 54| NE[ 76| NNE| 00 00| o0 118

25 269 320 218 25 Nw| 56/ Nw| 109] Nw| 05| o5 o5 74 25 28.3] 345 240| 16 ssw| 43| ssw| 571 sw| oo 00| o0l 84
26 232| 268 21.1] 2.0 NNW 6] NNw| 11.8] NNw| 167.0] 47.0] 135 04 26 253| 308 234| 12| NNE[ 39| NNE[ 55| ssw| 20 10| 10 15
27 259| 298] 224] 25/ NNw| 51| NNw|[ 92| wnw| 00 00| 00 46 27 26.7| 32.4| 224] 18] NNE| 44| NNE[ 58 s| 00| oo0f o00] o1
28 254] 276 233] 23] NNwW| 4.6 NNw|[ 109] NNwW|[ 05| 05/ 05 00 28 26.3] 296 240] 12| NNE[ 38 NNE[ 56| NNE| 00f 00| 00 00
29 251 297| 225] 28] NNwW| 52| Nw| 106] NNwW| 170] 115 75 34 29 26.7] 32.6] 228] 15 NNE[ 3.7 s| 49 s| ool oo o0 28
30 262 292 243] 31| Nw 5/ NNW[ 99| Nw| 00 00| 00| 41 30 28.8] 340 242| 16 s| 43| ssw| 57| ssw| 0o o00] o0 99
31 270 321 239] 26/ NNW| 47| NNw|[ 9.1] NNw| 00[ 00| 00 109 31 284| 326 243] 18 NNE| 4.1 s| 58 s| 00| oo o00] 116
BIEAl| 264 321 214 22 NNwW 0.5 454 prEal| 275 328 235 2.0[ NNE 0.0 485
#“E4a| 255| 292 229 26| NNW 184.5 234 %34 2701 320 235 1.5 NNE 2.0 34.9
)| 259 305| 222 24| NNW 185.0 68.8 a)| 27.2| 324 235| 1.7] NNE 2.0 83.4
EEE/H| +07] -02| +08 132 101 FEE/t| +04| +1.8] -0.1 2 108
AR | 10°CLL EFEERB| 267 EAFTE |ER 10°CLL EFEERUB| 315
B =R (°C) L[] - &R (m/s) %7K = (mm) HER B SUR(C) A - & E(m/s) [k = (mm) HEE
Y| &s | &E| FY | &% | &KX | AR | BE | AR | B | 16RE] 105 ] () Y | & | &IE | F9 | &% | &X | AR | BEE| B | 55 | 185E] 109 [ ()

21 247| 314 198] 1.0 ENE| 25 E| 56 s| 00| oo oo0] 74 21 28.1 326 243] 20 wl 58 E[ 88 E[ 00| o0 o0 83
22 246| 322 180] 09 wl 28] NE| 57 NE| 00 00| 00| 108 22 279| 327 240] 22 wl 49 E[ 77 E[ 00| 00| o0 125
23 245 306 192 o8] wsw| 26| ENE[ 86] sw| 00| 00| 00 101 23 28.1 344 241] 20 E[ 63 E[ 84| ENE| 00 00| o00f 98
24 243| 324 185 08 ssw| 23] NE| 79 s| 00| oo o0 76 24 296| 356 244| 24 w| 52| ESE[ 9.2 w[ 00| 00 00| 125
25 258| 320[ 19.7] 1.0 s| 33| SSE[ 113 s| 00| oo o0o0] 74 25 305 372 252| 3.4] wsw 9l wnw| 149 wnw|[ 00| 00| 00| 87
26 223| 270 206] 09| NE 3] Nw| 76 E| 1305 425| 165 04 26 265 342 228| 23] wsw| 57| wsw| 11.1] wsw| 215] 95 25 20
27 245 296 206] 1.0 ENE|] 25| ssw| 67| ssw| 15 10| 10[ 26 27 27.7] 327 232| 2.1 E[ 47 E[ 75 E[ 00| o0 o0 97
28 236 269 207 07| ENE] 23] NE| 70| SSE| 00| 00| 00| 00 28 274| 306 256] 1.6 w| 38| wsw| 69| wnw| 00 00| 00 00
29 231 297 194 07| NE| 26 s| 68/ SE| 150/ 65 30| 2.1 29 28.4| 340 254 22 w[ 6.1 w| 96| wsw| 00| 00 o0 17
30 248 284 220 10| ENE|] 24| ssw| 76/ NE| 00| 00| 00 28 30 305| 353 263] 29| wsw| 73] wnw| 10.7] wnw| 00[ 00| 00| 105
31 251 30.7| 208 07| ENE| 25 E[ 83 s| 00| 00| 00 78 31 30.2| 359 263] 25 wsw| 5.1 E[ 87| wsw| 00 00| o0 123
mrka)| 24.8 317 190 09 w 0.0 433 BIEA)| 288| 345 244| 24 W 0.0 51.8
#a| 239| 287 207 08| ENE 147.0 15.7 #Ea| 285 338 249 23] wsw 21.5 36.2
4)| 243| 30.1] 19.9] 09| ENE 147.0 59.0 4a)| 286 341 247] 23 W 21.5 88.0
SEEE/| +08] +1.1] +0.6 115 100 SEEE/E| +1.7] +29] +1.3 23 114




Hhigl SR R B

2013% 78218 ~310 FIEE (87)

(2/5)

HHlgra |HR 10°CLL EFERESUR| 308 ERIFTE | 10°CLLEFEH SUR| 300
B SUR(C) A - EE(m/s) [ 7K = (mm) BB B SUR(°C) LA - EE(m/s) [ 7K = (mm) HEE
Y| &e | RE| FY | &% | &KX | AR | BE | AR | BE | 18R] 105 ] () Y| &e | &E | FY (&% | &KX | AR | BE | AR | B [1EE] 105 ] ()

21 280 326 246] 1.2 w| 38| ESE| 6.7 ESE|] 00| 00| 00 87 21 274| 353 235| 0.7 E[ 24 E[ 59| ESE| 05| 05/ 05 65
22 277 327 239] 14| ESE| 36 E[ 66| ESE| 00] 00| o0 122 22 27.7] 357 219] 07| SSE| 28| SSE[ 6.0 s| 00| oo o00] 103
23 279| 338 24.1] 15/ wsw| 39| ESE[ 73| ESE[ 00] 00| 00| 103 23 27.3] 369 210| 07 SSE| 28] sse[ 59| wsw| 00 00| 00 95
24 28.7] 35.3| 229] 14 w| 32| ESE| 57| SE| 00 00| 00| 115 24 28.3] 36.6] 206] 08 s| 26 s| 81 E[ 00| 00 o00f 95

25 30.0] 36.3] 244] 16 wl 37 w| 65| wNw| 00 00| 00| 104 25 288 372 224| 07 s| 25| ssw| 66| ssw| o0o0f o00] o0 97
26 26.2| 335 236] 1.2 wsw 4 wnw| 8.1 w| 250 135/ 55 18 26 255| 330 222| 06| SSE| 27| NNE[| 6.9 N| 310 180] 80| 1.1
27 270 320 230] 1.1 ESE| 27| ESE| 56 w| 00| 00| oo0f 83 27 265 348 216] 04 s| 29| ssw| 73] ssw| oo o00] o0 46
28 26.6] 308 238] 1.0[ wsw| 24 wl 45 w| 00| 00| o0 o0 28 260| 315 229] 04 s| 16 s| 65 sw| 00| 00 o00] 00
29 27.4| 33.7) 23.0)] 09| wsw| 25 w| 42| Sg| oo o0 ool 24 29 26.2| 32.8] 215] 05 ssw| 2.1 N| 6.7 NNE| 05/ 05[] 05 2.1
30 201 352 239] 1.1 wsw| 34| ESE[ 58] ESE[ 00| 00| o00f 90 30 284| 337 235| 0.7 s| 22 s| 68 s| 00|l oo o00] 56
31 207 357 249] 15[ wsw| 35| ESE[ 6.1] ENE[ 00| 00| 00 120 31 283 361 220] 07 SE[ 27 s| 74| ssw[ o00] o0 o00] 104
BIEA)| 285| 341 240 14 W 0.0 53.1 prEal| 279 363 219 07 S 0.5 455
#E4q| 277| 335 2371 1.1] wsw 25.0 33.5 #%3a| 268 337 223 06 S 315 23.8
£ 280 338| 238 1.3] wsw 25.0 86.6 a)| 273| 349] 221 06 S 32.0 69.3
EEE/H| +10] +22| +03 27 108 EEE/H| +18] +3.3] +09 16 111
BAFFE |BERR 10°CLL EFEE KB 308 BRFa =i 10°CLL EFEERUB| 322
B =R (°C) L[] - &R (m/s) %7K =(mm) HER B SR(C) A - & E(m/s) [ 7K = (mm) HE&
Y| &e | &E| ¥ | &% | &KX | AR | BE | AR | B | 18RE] 105 ] () Y | & | &IE | Y9 | &% | &X | AR | BEE| B | 55 1858|109 [ ()

21 286| 362 2371 08 sw| 31 sw| 62 s| 00| oo 00 83 21 285| 317 258] 19| SE| 49| sse[ 7.1] sse| 00 00| 00| 104
22 28.0| 381 21.1] 06 NNE| 19| SSE| 56 s| 00| oo 00 89 22 283 325 244| 20| SSE| 45| sSE[ 62| SE| o00f 00| o0 124

23 282| 372 220/ 1.1 NNE| 28] NNE| 7.0 s| 00| oo 00 89 23 282 317 245| 21 w| 46| ESE[ 70| ENE| 00| 00| 00| 105
24 205 366 257/ 12 NNE| 35/ NNE[ 90| NNE| 00] 00| 00 63 24 30.8] 375 248| 32| wsw| 6.8 wsw| 11.1] wsw| 00 00| 00| 121
25 300 362 267 12 NNE| 37| NNE[ 98] NE| 00] 00| o00f 55 25 31.3] 3727 265| 29| ssw| 64 w| 128 w[ 00| o0o0f 00| 90
26 26.0] 299 232] 08| NNE 3] NNE| 81| NE| 195 85| 50/ 05 26 279| 317 240| 24| wsw| 45| wsw| 83| NNE| 280 225| 110 13
27 26.7] 306 232] 08 N 3] NNE[ 6.7 NNE| 15| 10| 05 05 27 285| 353 244| 21 NE[ 57 wNnw| 11.1] wnw| o00[ 00| 00| 87
28 271 295 249 07 Nw 3] NNE| 89| NNE| 00| 00| 00 00 28 28.6] 325 259] 21| sw| 45 wsw| 82 w[ 00| o0 00| o0
29 26.7] 312 248] 1.0 N| 28] NE| 67 s| 25 15 15 05 29 203| 336 253] 29| sw| 52| wsw| 86| wsw| 00 00| o0 22
30 28.1| 315 256] 09 NNE| 25| NE| 6.2 NNE|] 00| 00| 00| 1.1 30 30.3| 354 260] 32 wl 71| sw| 1o5| wsw| 00| 00| 00 82
31 289 35.1| 250 08 N| 23] NNE| 58 NNE[ 00 o00f o00f 47 31 302 36.0[ 269] 31| wsw| 56/ wnw| 90| wsw| 00 00| 00| 127
Al 289 369 238 1.0 NNE 0.0 37.9 BIEA)| 204| 342 252| 24 W 0.0 54.4
#34q| 273| 313 245| 08| NNE 235 7.3 #Eq| 201| 341 254| 26| wsw 28.0 33.1
4| 280| 338 242| 09| NNE 23.5 45.2 4| 29.3] 34.1| 253] 25| wsw 28.0 875
SEEE/E| +2.4] +22| +2.7 14 81 SEEE/H| +23| +32| +15 28 104




Hhigl SR R B

2013% 78218 ~310 FIEE (87)

(3/5)

EAFTE |MARE 10°CLL EFERSUR| 296 BHFTA | 10°CLLEFERESUR| 325
B SUR(C) B - B3R (m/s) [ 7K = (mm) B B SUR(°C) B[ - EE(m/s) [ 7K = (mm) HEE
Y| &e | RE| FY | &% | &KX | AR | BE | AR | BE | 18R] 105 ] () Y | & | RIE | FY | &2 | &X | AR | BEE| B | 55 | 185E] 105 [ ()

21 27.3] 340 224] 17| wnw| 4.4 WwNW| 7.6 w| 00| 00| o0 127 21 285| 340 24.1| 20l wNw| 54| ESE[ 78| ESE| 00 00| 00| 106
22 27.0] 340 203] 19 wsw| 43 wnw| 7.7] wnw| 00| 00| 00 124 22 28.6] 355 232] 1.8 wl 52| SE| 79 E[ 00| 00 00| 125
23 270 327 218 2.7 wNw| 55 wl 94 w| 00| o0 o0 113 23 285| 371 226] 20| sw| 54 E[ 75 E[ 00| 00 o0 110
24 27.6] 327| 239] 3.1 wl 57| wNnw| 96| wNw| 00[ 00| 00| 84 24 30.1| 36.4| 232| 38 sw| 66] wsw| 109] sw| oo 00| o0 11.1
25 283 325 254] 33 wl 63| wnw| 11.2] wnw| 60 60| 60 7.9 25 31.3] 376 256| 35 wsw|[ 6.9 w| 116] wsw| o0 o00] o0 73
26 265 295 238] 24 wsw| 5.1 wNw| 7.8 w| 375| 170] 70[ 009 26 28.6] 335 254| 32| sw| 74| sw| 116] sw| oo o00] ool 19
27 26.6] 30.4| 245 26 W 5/ wsw| 9.1 wsw| 90| 65| 50 24 27 295)| 36.4) 254 32|wsw)| 7.3 sw) 116 sw)| 00)| 00| 00) 5.5]
28 26.6] 294 251] 22 wnw| 4.1 wl 74 wl 10| 10| 10 o0 28 294| 340 265| 20| sSw| 46 w|[ 75| wsw| 00| 00| 00| o0.1
29 257 279 222| 24 w| 67| wNw| 115] wnw| 280 230] 90| 00 29 205| 333 270 41| sw| 73] wsw| 122] wsw| 00 00| 00 30
30 262 297| 237 24 w| 45| WNw| 8.0 w| 100] 55/ 15/ 06 30 30.1] 347 275 40 sw| 67 wsw| 109] sw| oo 00| 00 6.0
31 275| 324 243] 25 wnw| 48] wsw| 78] wsw| o00[ 00| o0o0f 72 31 31.2| 384 258] 32| wsw| 56/ wsw| 93] wsw| 00 00| o00f 11.1
AL 274| 332| 228 25 W 6.0 52.7 kAl 204| 361 237] 26/ sw 0.0 52.5
#®Ea| 265 209 239 24 W 85.5 1.1 #Ea| 207 351 263 33 sw) 0.0 27.6)

| 269 314| 234 25 W 915 63.8 A 296| 355 251 30| sSw) 0.0 80.1)
EEE/H| +06] -05] +1.4 68 80 EEE/H| +23] +33] +1.7 0 106
EAIFTE |/ 10°CUL EFFESR| 303 BAFRE |=EE 10°CLL EFEERUB| 331
B =R (°C) L[] - &R (m/s) %7K = (mm) HER B SUR(C) A - & E(m/s) [k = (mm) HE&
Y| &e | &E| ¥ | &% | &KX | AR | BE | AR | B | 18RE] 105 ] () Y | & | &IE | Y9 | &% | &X | AR | BEE| B | 55 1858|109 [ ()

21 280| 342 230 20 wNw| 48] NNw[ 90| Nw| 00 00| 00| 108 21 289| 332 258] 26/ wNw| 6.7] SE[ 105] SE| 00[ 00| 00| 101
22 280 345 21.7] 32 wnw| 52| NNw[ 9.7 Nw| 00| 00| 00 128 22 207| 348 246| 30 wNw| 58] ESE[ 83| SE| 00[ 00| 00 124
23 27.6] 338 230 33 Nw| 64 wl 121 w| 00| 00| o0 114 23 303 37.2| 259| 45 wf 7.2 wl 117 w|[ 00| 00| o0 111
24 280| 329 247 38 Nw 6] Nw| 112] wNw| 00 00| 00| 97 24 308 36.3] 268] 6.3 wsw| 94| wsw| 156 w[ 00| o0 o00] 113
25 28.7| 338 258] 33| wNw| 55 wl 127 wnw| 25| 25 25 83 25 31.6] 372 277 54 wl 9.2 w| 13.7] wsw| 00 00| o0 76
26 26.7] 306 240/ 25 Nw| 58 NNw| 97| wnw| 55| 25 20 32 26 28.7| 330 258| 46 w| 82| wsw| 127] wsw| 00 00| o00f 13
27 275| 318 249] 33 Nw| 58 wl 122 wl 15 10| 10[ 65 27 30.6] 354 273| 57 w[ 96 w| 156 w[ 00| o0 00| 95
28 27.1] 300 254] 29| Nw| 46/ Nw| 100] wnw| 00 00| o00[ 00 28 298| 328 279] 48] wsw| 86 wl 124 w[ o00] o0 o0 12
29 265| 308 231 31| n~Nw| 72| wnw| 133 nNw| 70| 65| 30 24 29 204| 325 276] 6.0 wl 9.2 w| 144 wl o5 05/ 05| 3.1
30 269 319 236 33 N~Nw| 51| nnw[ 96| nNw| 60| 50 20 41 30 30.1| 353 281] 5.9 wl 99 w[ 155 w[ 00| 00| o00f 63
31 28.3| 336 247 31| Nw| 47| waw| 93] wnw| 00 00| o0 11.2 31 314| 317 270] 59 wl 94 wl 128 w| 00| o0 o0 125
arEa| 28.1| 338 236] 31 Nw 25 53.0 BIE4A)| 303| 357 262| 44 w 0.0 52.5
#x4a| 272| 315 243 30/ Nw 20.0 27.4 %34 300| 345 273 55 W 0.5 33.9
)| 276 325 240 31| Nw 22.5 80.4 4| 30.1] 350| 268 50 w 0.5 86.4
SEEZE/E| +07] -0.41] +1.1 17 94 SEEE/E| +2.4| +32] +25 0 106




Hhigl SR R B

2013% 78218 ~310 FIEE (87)

(4/5)
BAFRE |55 10°CLLEFEESUR| 330 EAIFRE |FRiL 10°CLLEFEH SUR| 333
B SUR(C) A - EE(m/s) [ 7K = (mm) BB B SUR(°C) LA - EE(m/s) [ 7K = (mm) HEE
Y| &e | RE| FY | &% | &KX | AR | BE | AR | BE | 18R] 105 ] () Y| &e | &E | FY (&% | &KX | AR | BE | AR | B [1EE] 105 ] ()
21 28.4| 320 255] 1.7] wsw| 4.2 E[ 69] SE| 00 00 oo0f 87 21 28.9| 321 263] 32| wNw| 82| SSE[ 108] SSE[ 00| 00| 00
22 202| 348 240 1.7 wl 41| SE| 73 s| 00| o0 00| 126 22 202| 349 250| 42 wl 78 w| 108 w| 00| 00| 00
23 206 371 247 22 wnw| 47| Nw|[ 9.1 NNw| o00] 00| o0 113 23 30.1] 385 256] 6.0 wl 93 wl 129 w[ 00| 00 00
24 305 36.8] 244] 22 wl 5.2 w| 105] wNnw| 00 00| 00| 104 24 309| 36.7| 263] 7.0 w[ 10.1 w| 144 wsw| 00 00| 00
25 312 371 267 18 wl 54| Nw| 119 wNw| 00 00| 00 73 25 320| 378 279] 64 w| 105 w| 144 w[ 00| 00 00
26 283 329 257 10| ssw| 34 w| 80| wsw| 00 o0 oo 14 26 28.8| 332 252| 48 w| 87| wsw| 11.8] wsw| 05| 05 05
27 309| 353 268] 2.4 wnw| 52| wnw| 11.0] wsw| 00 00| o0 78 27 308 36.6] 270| 64 w[ 106 w| 144 w| 00| 00| 00
28 206| 334 263] 1.3 sw| 46 wNw| 97 wl 00| 00| o0 1.1 28 300| 334 277| 59 w|l 8.1 w[ 108 w[ 00| 00 00
29 305 339 258] 15 sw| 5.1 w| 108] wNnw| 00 00| o0 38 29 300| 336 278] 78 wl 112 w| 165] wsw| 00 00| 00
30 309| 36.0[ 270/ 20 wnw| 45 wnw| 9.1 wnw| o00f 00| 00 63 30 304| 356 280] 7.2 w|[ 10| wNw| 144 wl 00| 00| 00
31 308 36.8] 254] 22 w|l 45| wNnw| 96| Nw| 00| 00| 00| 116 31 314| 376 269] 7.0 wl 9.9 w| 129 w[ 00| 00 00
BIAll 298 356 251 1.9 W 0.0 50.3 BrEA| 302 360 262 54 W 0.0
#®Ea| 302 347 262 1.7 W 0.0 32.0 %34 302| 350 271 65 W 05
f)| 300 351| 257 18 W 0.0 82.3 )| 30.2| 355 267 6.0 w 05
EEE/H| +29] +40] +1.7 0 104 EEE/H| +25] +41] +1.9 1
BBl E AR 10°CLLEFEESUR| 315 ERIFRE B 10°CLL EFEERUB| 332
B =R (°C) L[] - &R (m/s) %7K =(mm) HER B SR(C) A - & E(m/s) [ 7K = (mm) HE&
Y| &e | &E| ¥ | &% | &KX | AR | BE | AR | B | 18RE] 105 ] () Y | & | &IE | Y9 | &% | &X | AR | BEE| B | 55 1858|109 [ ()
21 200| 351 242] 17| ssw| 42| ssw| 71| ssw| o0 00| o0 97 21 28.7] 341 259] 27 wNw| 57| sse[ 83| SSe| o00f 00| o0 99
22 286| 347 236] 18 ssw| 36/ sw| 78] ssw| 00| 00| o0 122 22 205 359 242| 38 wNw| 61| sw| 97| sw| oo o00] o0 115
23 286 342 245 23] wsw| 49| sw| 98] sw| 00| 00| o0 111 23 30.2| 362 258| 4.1 wl 72| wsw| 11.2] wsw| 00| 00| 00 98
24 289| 337 254| 24 wsw| 52| wsw| 98] sw| 00| 00| o00f 80 24 305 354 272| 52 wl 78] wsw[ 11.9 w[ 00| 00| o00] 97
25 205 339 2671 23] sw| 46 wNw| 96| wnw| 05| 05/ 05 54 25 31.1] 373 278| 42| wsw| 82| wnw| 133] Nw| 00 00| 00| 55
26 285 313 270/ 25 sw| 38 wsw| 81| sw| 00| o0 oo0f 14 26 299| 343 264| 38 wsw| 7.3 wsw| 120 w[ 00| oo0f o0 13
27 28.7] 341 260 25 sw| 44| sw| 93] wsw| o0 00| o0 43 27 30.7] 350 278] 5.0 w| 87| wnw| 133] wNnw| 00f 00| 00 70
28 282| 307| 264] 21 sw| 38 sw| 78 sw| 00| 00| o0o0f 00 28 299| 338 280| 43 wl 78 w| 12.1] wsw| 00| 00| o0 1.7
29 277 318 256] 26/ wsw| 45 sw| 92| ssw| 20f 15 10f 1.1 29 208| 329 28.1| 51| wsw| 83 w[ 129 w[ 00| 00| o00] 33
30 284| 332 262] 22| wsw| 44| wsw| 9.1] wsw| 00 00| o00f 39 30 304| 343 281| 48 w[ 79| wsw| 123 w[ 00| o0 o00] 42
31 289| 347 250] 22| wsw 4 sw| 89| sw| oo o0 o0 103 31 31.3| 367 279 5.2 w| 74 w| 116] Nw| 00| 00| 00| 108
arEa| 289| 343 249 21| wsw 0.5 46.4 BIE4A)| 300| 358 262] 4.0 w 0.0 46.4
#4a| 284| 326] 260 24| wsw 2.0 21.0 #E4q| 303| 345 277 47 W 0.0 28.3
]| 286 334 255 22| wsw 2.5 67.4 4| 302| 351| 270 44 w 0.0 74.7
SEEE/E| +1.6] +1.4] +2.2 2 94 SEEE/E| +2.6] +39] +2.3 0 95




Hhigi SR R R F) R

20134%E7821H~31H FI&E (87)

BHlpgTa |SE 10°CLLEFEESUR| 320
Bt KUR(CC) JELE] - EE(m/s) %7K = (mm) HEE
T | &a | &E| Y | &2 | &KX | BR | BRE | &A@ | 55 | 18R] 105 | ()

21 276| 319 238 16| ssw| 47| ssw| 80 s| oo o0 00| 104

22 28.2| 326 227 24| wsw| 52| wsw| 89 w| 00| o00] o0 125

23 29.1| 35.1| 242 26 w| 6.6] wsw| 102[ wsw| 00| 00| 00| 100

24 29.1| 343 254 36| wsw| 81| wsw| 122 w| 00| o0 oo 6.1

25 304| 359 275 34| wsw| 63| wsw| o8] wsw| 05| o5] o5 6.1

26 289 320 27.3] 43| wsw| 73] wsw| 11.1] wsw| 00| o00f o0 o8

27 298| 346 260 33| wsw| 7.1 wsw| 12.8] wsw| 00| o00f o0 63

28 29.1| 327 2714 37| wsw| 6.9 wsw| 102 wsw| 00| o0 o0 29

29 290| 323 27.3] 49| wsw| 76| wsw| 11.7] sw| o0o] oo o0 31
30 29.3| 330 265 43| wsw| 7.7] wsw| 115 w| 00| 00| o0 68

31 295| 336 26.1] 39| wsw| 7.6 wsw| 119 wsw| 00| o00f o0 95
BIEAl| 289 340 247 27| wsw 0.5 451
%4 293| 330 267 41| wsw 0.0 29.4
4a)| 29.1] 335| 258 3.5 wsw 0.5 745
FEEE/| +1.9] +20] +21 0 92

(5/5)



Hhig = R A | R

20135 7821H~31H =IFE (87)

(1/1)
R4 BHZE FiF A HE #E ZUD
[ 7K 2 (mm) [ 7K Z(mm) [ 7K = (mm) [ 7K = (mm) [ 7K = (mm) [ 7K = (mm)
B f+ A BA1|&K10| 52 | o BA1|&K10| 52 | o BX1|&K10| 2 | BA1[&K10| 2 | BA1[&K10| o |5 X1 [&K10
BEt PR wpy [om | BE|FEE why | s | BE|FEE ghy | Sem | BE | TR Ry | e | BE [T why | Sem | BE [T e | oin
21 2.5 2.5 2.5 15 15 15 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
22 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
23 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
24 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
25 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.5 0.5
FAE/&RA 2.5 // 2.5 25 15 3 1.5 15 0.0 0 0.0 0.0 0.0 // 0.0 0.0 0.0 // 0.0 0.0 1.0 1 0.5 0.5
26 1475 425 145] 920 265 100 645 20.0 6.5 555 14.5 70| 505 495 175 9.5 3.5 2.5
27 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 0.0 0.0 0.0 0.0 2.5 1.0 0.5
28 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 15 1.0 1.0
29 5.0 4.0 2.0 15 0.5 0.5 0.5 0.5 0.5 75 3.5 15 0.0 0.0 00/ 120 8.5 6.0
30 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 0.5 0.5 0.0 0.0 00/ 195 17.5 8.5
31 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
EHE/BKR]| 1525 //| 425|145 935 116] 265] 100 65.0 87| 200 6.5 635 //| 145 70| 505 //| 495|175 450 33 175 8.5
3 155.0 // 95.0 70 65.0 54 63.5 // 50.5 // 46.0 18
PN 1475 425 145] 920 265 100 645 20.0 6.5 555 14.5 70| 505 495 175 195 17.5 8.5
#HEH 26 26 26 26 26 26 26 26 26 26 26 26 26 26 26 30 30 30
BHiHpTA =R R EE I X
[ 7K =(mm) [ 7K =(mm) [ 7K =(mm) [ 7K = (mm) [ 7K = (mm) [ 7K = (mm)
B = || 5w &A1 [ &R0 S | &A1 [®&KR10| S | &A1 |&KR10[ S | &A1 | &KR10[ o2 | &A1 | w&KR10[ o2 | X1 [&RK10
BEt | PR wpy [Tom | BE|FEE why | S | BE|FEE ghy | Sem | BE | TR Ry | Sen | BE TR Ry | e | BE (TR he | sine
21 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
22 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
23 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
24 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
25 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 15 15 1.0 0.0 0.0 0.0
FAE/ &KX 0.0 // 0.0 0.0 0.0 0 0.0 0.0 0.0 0 0.0 0.0 1.5 // 1.5 1.0 0.0 0 0.0 0.0
26 3.0 2.5 15 0.0 0.0 0.0 2.0 2.0 1.0 4.0 3.0 3.0 0.0 0.0 0.0
27 0.0 0.0 0.0 0.0 0.0 0.0 0.5 0.5 0.5 1.0 1.0 0.5 1.0 0.5 0.5
28 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
29 14.0 13.0 9.0 2.5 2.5 2.0 0.0 0.0 0.0 1.0 1.0 1.0 0.0 0.0 0.0
30 2.5 25 1.0 2.0 2.0 15 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FAE/ &KX 19.5 //|  13.0 9.0 45 6 25 2.0 25 4 2.0 1.0 6.0 // 3.0 3.0 1.0 1 0.5 0.5
A&t 19.5 // 45 3 2.5 2 75 // 1.0 1
fARX 14.0 13.0 9.0 2.5 2.5 2.0 2.0 2.0 1.0 4.0 3.0 3.0 1.0 0.5 0.5
#EH 29 29 29 29 29 29 26 26 26 26 26 26 27 27 27
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Hhigi SR BRI A HM(KEHE)

=GR (87) 2013478
118

HAIFFE EFE | &1 $E Em B e | BERR | B8 | AR | BEH VR = 5B FRiT ERi i Y
_ﬁ I3 25.5 26.4 24.2 275 27.2 26.5 26.8 279 26.8 28.2 27.3 29.0 28.6 28.7 28.1 28.8 28.0
- 0.9 0.6 1.3 1.4 0.9 1.5 1.8 1.4 1.2 1.4 1. 1.7 1.9 1.3 1.6 1.6 1.4
=S 34.2 34.5 32.9 37.2 36.3 37.2 38.1 37.7 35.8 38.4 35.1 37.7 37.1 38.5 35.6 37.3 35.9
E 12 25 11 25 25 25 22 25 11 31 10 31 25 23 19 25 25
= 19.4 20.4 17.6 20.9 20.7 19.4 19.5 21.5 20.3 21.2 20.5 21.5 21.6 21.5 20.9 21.9 21.7
9 1 17 1 1 18 1 1 22 1 2 1 1 1 1 1 1
E@_ﬂ 3 31.0 30.9 30.3 32.5 32.5 33.6 33.4 31.9 31.9 33.5 32.5 33.6 33.2 33.2 33.2 33.2 32.2
E@_Zgﬁ 1.1 1.3 2.1 2.2 1.6 2.6 2.7 1.5 2 1.9 1.2 2.2 2.3 1.9 1.9 2.4 1.5
Eﬁ_ﬂﬁa 21.4 22.9 19.5 23.8 23.3 21.4 22.4 24.5 22.8 23.9 23.3 25.3 24.5 25.2 24.3 25.6 24.6
=K 0.5 0.1 0.7 1.1 0.6 0.8 1.3 1.2 1.0 1.0 0.8 1.4 1.1 0.9 1.3 1.3 1.3
=] 789 817 750 853 844 823 832 865 831 874 845 898 886 891 871 892 869
et S £)0°C R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
E4)25°CLL E 24 27 6 28 29 27 25 29 29 29 29 29 29 29 29 29 29
= =0C 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
E=25°CLLE 30 29 30 29 29 30 30 31 31 30 30 31 30 31 30 31 31
& =30°CLLE 23 26 22 28 28 28 24 25 22 28 28 28 28 29 28 29 28
E=35°CLLE 0 0 0 6 5 13 19 5 1 8 1 10 8 9 3 7 2
=1{E0°C 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
F{K25°CLLE 0 0 0 5 0 0 4 10 3 10 3 19 11 19 12 20 13
=] E 209.5 242.8 181.6 254.8 262.4 199.6 150.7 2745 216.8 263.0) 239.4 265.7 270.4 228.4 242.8 261.0
BE |3 128 127 123 131 130 126 111 131 115 139 128 129 137 129 123 129
| O.1K5fE 1 3 2 4 3 2 4 2 3 3 2 1 1 3 1 1
A [FEE 1.9 1.8 1.0 2.0 1.3 0.6 0.8 2.7 2.2 2.6 2.6 3.8 1.6 4.4 2.2 3.5 2.8
M (= 6.8 8.9 4.3 9 5.1 3.2 4.7 9.6 8.3 8.5 7.2 11.6 6.2 11.2 7.3 9.5 9
- R [[] NW N SSW WNW WNW S NNE S WNW SW WNW WSW W W SW WSW WSW
A 24 3 5 25 6 12 12 4 6 5 29 5 4 29 3 3 3
=E | & =) 13.7 14.3 11.6 14.9 11.1 9.4 11.6 16.5 14 18.9 13.3 18.1 11.9 16.5 13.9 15.5 15.3
I =) 0] NNW SSW SSW WNW SSW SSW NE SW WSW SW NW WSW WNW WSW SSW WSW W
23 5 3 25 5 5 12 5 3 3 29 5 25 29 5 6 6
= @I’l'il NNW NNE WSW W W SSE NNE SW W SW) NW W WSW W SSW W WSW
10m/sEl E 0 0 0 0 0 0 0 0 0 0 0 1 0 7 0 0 0
15m/sbl.E 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20m/sBl.E 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
30m/sbLE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
E =3 256.5 121.0 187.0 69.0 130.5 154.0 88.5 93.0 178.5 94.5 70.0 57.5 82.5 68.0 25.5 31.5 22.5
e 65 49 46 26 50 35 18 36 37 31 17 19 30 28 7 12 8
KX = K= 167.0 48.0 130.5 21.5 54.0 85.5 30.0 41.0 43.0 66.5 23.0 31.5 61.0 61.0 6.5 19.0 1.5
26 3 26 26 3 3 3 3 3 3 3 4 4 4 1 4 4
£ |[EXIBEEEKS 47.0 18.5 42.5 14.5 18.0 29.5 11.5 22.5 30.5 33.5 15.0 16.5 42.0 29.0 4.0 11.0 7.0
26 18:13 3 18:12f 26 13:02] 13 17:52 4 06:02 3 18:46 3 17:05] 26 20:32 317:23 3.19:10 3 17:54 4 05:06 4 02:41 4 04:58 4 02:22 4 03:2 2 16:23
= K109 EEKE 13.5 6.0 16.5 8.5 13.5 12.5 5.5 11.5 16.0 21.5 6.5 7.0 19.0 9.0 2.5 4.0 6.0
=l o 26 17:59 3 19:51] 26 12:56] 13 17:02 4 05:13 3 18:09 4 03:00 3 17:41 3 16:57 3.19:10 3 17:08 4 04:20 4 02:10 4 04:53 6 15:49 4 02:46 2 15:37
ImmBLE 6 8 8 6 6 5 9 5 12 5 10 5 4 4 6 4 5
10mmBL E 4 3 3 3 4 3 4 4 5 2 1 2 1 1 0 1 0
30mmbLLE 2 2 2 0 1 2 1 1 2 1 0 1 1 1 0 0 0
50mmbLLE 2 0 1 0 1 1 0 0 0 1 0 0 1 1 0 0 0
70mmbL E 1 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0
100mmPLl EH 1 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
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HhI R E R A |MREHE)

=IEE (87) 20134E7H
1/18
EAIFT A =47 IR b %] HEZE B ZUD =) R 5 1L ¥

A&t 238.0 169.5 120.5 172.5 195.0 156.5) 131.0 925 83.0 116.5 475
FEL // 46 37 // // 20 // 26 24 // 11
= ABEKE 1475 92.0 64.5 55.5 52.5 46.0) 54.5 315 385 52.5 215
¥R 26 26 26 26 3 3 4 4 3 4 4
=N 1EFEFEKE 425 26.5 20.0 25.0 495 18.5) 24.0 205 285 18.5 125
B B 26 17:05 26 13:49 26 14:34 3 16:56 26 19:46 4 00:37 4 03:47 213:18 318:48 4 04:24 4 03:43
=A107 FEEKE 145 10.0 6.5 115 225 8.5) 9.0 145 12.0 9.5 8.0
B B 26 12:49 26 14:39 26 14:16 402:59 320:13 30 07:26 29 11:37 2 12:43 2 13:07 4 00:52 4 03:24
TmmEL L B 7 8 7 8 6 13) 10 8 5 10 7
10mmEl E B %k 3 3 4 4 5 5) 4 3 3 3 2
30mm L E B 3 2 1 3 3 2) 1 1 1 2 0
50mm Lk B 1 1 1 1 2 0) 1 0 0 1 0
70mmLE B 1 1 0 0 0 0) 0 0 0 0 0
100mmEL £ B # 1 0 0 0 0 0) 0 0 0 0 0
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